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QUESTION 1

The following code sample is an excerpt from an implementation of a custom ExplicitLoginFilter.

1 public void login{HttpserdetEequest req HitpServietResponse resp, string userlD, char]
2 passwird, FilterChainContext portalLoginContext, Subject subject, String realm,
d ExplicitLoginFilterChain chain) throws Exzeption {

4

g chain.login(req, resp, userlD, password, portalLoginContext, subject, realm),

B

7 Slriny myjndiname = Useragreementservice JNDTMNAME,

& UserAgreement=ervice mysns =

2 JserAgreementservice) ct lookupimyjndiname),

10 it rySne checkUser(useriD) ) {

11 A serd user to license agreement page

12 1

T 3

Evan needs to implement custom logic to check whether the user needs to accept an updated user agreement. Which
one of the following lines of code allows the user to be sent the friendly IBM WebSphere Portal URL
\V'acceptAgreement,\\' if the checkUser method returns true?

A. resp.sendRedirect("/wps/myportal/acceptAgreement”);

B. portalLoginContext.setRedirectURL("/wps/myportal/acceptAgreement");

C. RequestDispatcher rd = req.getRequestDispatcher("/wps/myportal/acceptAgreement"); rd.forward(req, resp);

D. RequestDispatcher rd = req.getRequestDispatcher("/wps/myportal/acceptAgreement”); rd.include(req, resp);

Correct Answer: B

QUESTION 2

Hershel wants to programmatically check if specific users have access to his company\\'s new portlet application, in
order to show a message in another portlet asking them to purchase a subscription. He is trying to do so with the least
amount of performance overhead. What would be the best way for Hershel to accomplish this?

A. He should use the com.ibm.portal.ac.RoleData interface to verify explicit role assignments.

B. He should use the com.ibm.portal.ac.UserRoles interface to verify explicit role assignments.

C. He should read role assignments using the com.ibm.portal.ac.RoleData interface and ensure portlet caching is
enabled.

D. He should use AccessControlRuntimeModel or AccessControlGlobalRuntimeModel to verify explicit role
assignments.

Correct Answer: D
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QUESTION 3

Which option best describes how JSR 286-compliant portlets and widgets interact with each other?
A. Portlets and widgets cannot interact with each other.

B. Widgets and portlets can interact by using shared render parameters and events.

C. Widgets and portlets can interact by using shared render parameters.

D. Widgets and portlets can interact by using events.

Correct Answer: B

QUESTION 4

Which of the following options is not a valid parameter of the login() method of the Portlet Login service (interface
com.ibm.portal.portlet.service.login.LoginService)?

A. char[] password - The password of the user.
B. java.lang.String userlID - The user ID of the user.
C. java.net.URL redirectURL - The login redirect URL.

D. javax.security.auth.Subject subject - A security subject to be passed to the WebSphere Application Server login
modules that can be null if notneeded.

Correct Answer: C

QUESTION 5

Tyson is the sole IBM WebSphere Portal administrator in his company. He has developed a portlet that uses content
spots to bind certain portlet markup to users specific to a certain group accessing the portlet itself. What bindings can
Tyson create to associate the users with the content spots to be shown?

A. He can use Personalization Rules based on user and group information, hiding and showing the content spots per
each grouping as desired.

B. He can use the ContentPresentationModel to hide and show content spots based on any parameter included in the
ContentPresentationResource and change the content spot based on the user\\'s group

C. He can store a personalization rule in the theme that creates a new version of the portlet for each user group
automatically on first access,using the PortletClientModel and leveraging the PUMA UserGroup object

D. Portlets cannot include dynamic content spots.

Correct Answer: A
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